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:= dynamic ts/1.

ts([0,0,0]).

sagasuO(L,M,I =<J):- abolish(ts/1),
asserta(ts(L)),
sagasu(L,M,I =<J).

sagasu(L,M,I =<J):- tugi_Q(L,L2,M,Q),
write(I=L), put(9),
write(Q), nl,
I1 is I+1, I1 =<7J,
( \+ ts(L2) -> (asserta(ts(L2)),
sagasu(L2,M,I1 =<J));
write(I1=L2)).

tugi_Q([A,B,C], [A2,B2,C2] ,M,N):-
X is (A*sqrt(M)+B)/C,
N is floor(X),
Bl is B-Nx*C,
gyaku([A0,B0,C0]=1/[A,B1,C],M),
gcd3(DD=[A0,B0,C0]),
A2 is A0//DD,
B2 is B0//DD,
C2 is C0//DD.

gyaku([A1,B1,C1]=1/[A,B,C],M):-
Al is CxA,
B1 is -CxB,
Cl is -B*B+M*xAxA.

gcd3(DD=[A,B,C]):-
gcd2(D=[A,B]),
gcd2(DD=[D,C]).

gcd2(A=[A,0]).
gcd2(D=[A,B]) :-
Bl is A mod B, Al = B,
gcd2(D=[A1,B1]).
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n\a, | [ABCI(VM) [a)]
0 [7,0,1](v2) 9
1 [7,9,17](v2) 1
2 7,8, 2](v2) 8
3 [7,8,171(v2) 1
4 (7,9, 1](+v2) 18
5 [7, 9, 17](v/2)
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#3: 20712 (1<n<6) OHEYKEH

n\ay | [4,B,CJ(VM [4,B,CI(VM)  [a)]
0 [ 1,0, 1](v2) 0 [2,0,1](vV2) 2
1 [1, 1, 1](v2) 1 [1,1, 2](v2) 1
2 [1,1, 1)(v2) 2 [2,2,1](V2) 4
3 [1,1,2)(v2)
0 [4,0,1(v2) 5 0 [8,0,1](v2) 11
1 [4, 5, T(V2) 1 1 [8,11, 7](v2) 3
2 [2, 1, 2](v2) 1 2 [ 4,5, 2](v2) 5
3 [4,2, 7(V2) 1 3 [8,10, 7](v2) 3
4 [4,5 1](v2) 10 4 [8,11,1](v2) 22
o [4,5, 71(v2) o [8,11, 7)(v2)
0 [16, 0, 1](v2) 22 0 [32,0,1](v2) 45
1 [8,11,14)(v2) 1 1 [32,45,23](v2) 3
2 [16, 6,17](v2) 1 2 [4,3,8(vV2) 1
3 [16,11,23](v2) 1 3 [32,40, T](v2) 12
4 [4, 3, 4)(V2) 2 4 [8,11,4](v2) 5
5 [16,20, 7](v/2) 6 5 [32,36,47](v2) 1
6 [8,11,2](v2) 11 6 [32,11,41](v2) 1
7 (16,22, 7](vV2) 6 7 [16,15,14](v2) 2
8 [4,5,4(2) 2 8 [32,26,49](v2) 1
9 [16,12,23](v2) 1 9 [32,23,31](v2) 2
10 | [16,11,17](v/2 1 10 | [32,39,17](v2) 4
11 [8,3,14)(v2) 1 11 [32,29,71](v2) 1
12 [16,22, 1](v/2) 44 12 [16,21, 2](v2) 21
13 [ 8,11,14](v/2) 13 | [32,42,71](v2) 1
14 [32,29,17](v2) 4
15 | [32,39,31](v2) 2
16 | [32,23,49](v2) 1
17 | [16,13,14](v2) 2
18 [32,30,41](v2) 1
19 | [32,1147](v2) 1
20 [8,9,4(vV2) 5
21 (32,44, 7](v/2) 12
22 [ 4, 5, 8](V2) 1
23 | [32,24,23)(v2) 3
24 (32,45, 1](v2) 90
25 | [32,45,23](V2)




# 4: 25V2 O HURR

n\ay | [A,B,ClI(WVM) [an] | n\an | [4,B,CJ(VM) [a]
0 [64, 0, 1](v2) 90 25 | [64,90,23](v2) 7
1 [32,45, 46](v2) 1 26 | [64,71,137)(v2) 1
2 (64,2, 89](v2) 1 27 | 32,33, 14](v2) 5
3 (64,87, 7)(v2) 25 28 | [64,74,97)(vV2) 1
4 [ 8,11, 8)(v2) 2 29 | [64,23, 79](v2) 1
5 | [64,40,103)(v2) 1 30 (8,7, 8](+2) 2
6 (64,63, 41](v2) 3 31 (64,72, 47](v/2) 3
7 [16,15, 28](v2) 1 32 | [64,69, 73](v2) 2
8 (64,52, 49](v2) 2 33 | [64,77,31](v2) 5
9 [32,23, 62](v2) 1 34 | [32,39,34](v2) 2
10 | [64,78,17](v2) 9 35 | [64,58, T1](v2) 2
11 | [64,85,151)(v2) 1 36 [16,21, 4](v2) 10
12 [16,19, 4](v2) 10 37 | [64,76,151](v/2) 1
13| [64,84, T1](v2) 2 38 | [64,75, 17](vV2) 9
14| [32,29, 34)(v2) 2 39 | [32,39, 62](v2) 1
15 | [64,78,31](V2) 5 40 | [64,46, 49](vV2) 2
16 | [64,77, 73](vV2) 2 41 | [16,13,28](v2) 1
17 | [64,69, 47)(v2) 3 42 | [64,60,41](v2) 3
18 (8,9, 8(v2) 2 43 | [64,63,103](v2) 1
19 | [64,56, 79](v2) 1 4 | [858((V2) 2
20 | [64,23,97](v2) 1 45 | [64,88,71(v2) 25
21 | [32,37, 14](v2) 5 46 | [64,87,89](v2) 1
22 | [64,66,137](v2) 1 47 | [32,1,46)(v2) 1
23 | [64,71, 23)(vV2) T 48 | [64,90, 1](v2) 180
24 (32,45, 2](v2) 45 49 (32,45, 46](v/2)




3.3 g (n € N) OEHEER

A=1,B=0,C=2", M =2 TR L7,

10



V2

* 5 o0 (1<n<6) OHsEIER
n\an | [4,B,C](VM) [on] || n\aw | [4,B,Cl(VM) [an]
0 [1, 0, 2](v/2) 0 0 [1, 0, 4](v/2) 0
1 [1, 0, 1](v/2) 1 1 [2, 0, 1](v/2) 2
2 [1, 1, 1](+v2) 2 2 [1, 1, 2)(v2) 1
3 [1, 1, 1](v2) 3 2, 2, 1](+/2) 4
4 [1, 1, 2](v/2)
0 [1, 0, 8](V2) 0 0 [1, 0, 16](v2) 0
1 [4, 0, 1](v/2) 5 1 [8, 0, 1](v/2) 11
2 [4, 5, 7](v/2) 1 2 8, 11, 7](v/2) 3
3 [2, 1, 2)(V2) 1 3 [4, 5, 2)(V2) 5
4 [4, 2, 7](V/2) 1 4 8, 10, 7](v/2) 3
5 [4, 5, 1](v/2) 10 5 8, 11, 1](v2) 22
6 [4, 5, 7)(v/2) 6 [8, 11, 71(v2)
0 [1, 0, 32](v/2) 0 0 [1, 0, 64](v/2) 0
1 [16, 0, 1](v2) 22 1 [32, 0 11(2) 45
2 8,11, 14)(v2) 1 2 [32, 45, 23](v2) 3
3 [16, 6, 17)(v2) 1 3 [4, 3, 8](V2)
4 [16, 11, 23](v2) 1 4 [32, 40, 7](v/2) 12
5 [4, 3, 4(/2) 2 5 8, 11, 4](v/2) 5
6 [16, 20, 7](v2) 6 6 [32, 36, 47](v2) 1
7 8,11, 2](v2) 11 7 [32, 11, 41](v/2) 1
8 [16, 22, 7](v/2) 6 8 [16, 15, 14](v2) 2
9 [4, 5, 4(v/2) 2 9 [32, 26, 49](v2) 1
10 | [16,12,23](v2) 1 10 | [32,23,31](v2) 2
11| [16, 11, 17](v/2) 1 11 | [32,39,17](v2) 4
12 8, 3, 14](v/2) 1 12| [32,29, 71](v/2) 1
13 [16, 22, 1](v2) 44 13 [16, 21, 2](v2) 21
14 [8, 11, 14](v/2) 14 | [32,42, T1)(v2) 1
15 | [32,29,17](v2) 4
16 | [32,39,31](v2) 2
17 | [32,23,49](v2) 1
18 | [16, 13, 14](v2) 2
19 | [32,30,41](v2) 1
20 | [32,11,47)(v2) 1
21 8, 9, 4](v2) 5
22 [32, 44, 7](v/2) 12
23 [4, 5, 8](v2) 1
24 | [32,24,23](v2) 3
25 [32, 45, 1](v/2) 90
26 | [32, 45, 23](v/2)
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n\an | [4,B,C)(WM) [an] | n\an | [A,B,CIVM) [a)]
0 [1,0,128)(v2) 0O
1 [64, 0, 1](+/2) 90 26 [64, 90, 23](v2) 7
2 [32, 45, 46](v/2) 1 27 | [64, 71, 137](v/2) 1
3 [64, 2, 89](v/2) 1 28 [32, 33, 14](v/2) 5
4 [64, 87, 71(v2) 25 29 [64, 74, 97)(v/2) 1
5 [8, 11, 8](v2) 2 30 [64, 23, 79](v2) 1
6 | [64, 40, 103](v2) 1 31 [8,7,8(v2) 2
7 [64, 63, 41](v2) 3 32 [64, 72, 47)(v2) 3
8 [16, 15, 28)(v2) 1 33 [64, 69, 73](v2) 2
9 [64, 52, 49](v2) 2 34 [64, 77, 31](v2) 5
10 [32, 23, 62](v2) 1 35 [32, 39, 34](v2) 2
11 [64, 78, 17](v/2) 9 36 [64, 58, T1](v/2) 2
12 | [64, 75, 151)(v2) 1 37 [16, 21, 4](v/2) 10
13 [16, 19, 4](v/2) 10 38 | [64, 76, 151)(v2) 1
14 | [64, 84, T1](v2) 2 39 | [64, 75, 17)(v2) 9
15 [32, 29, 34](v2) 2 40 [32, 39, 62](v/2) 1
16 | 64,78, 31](v2) 5 A1 | [64, 46, 49](V2) 2
17 | [64,77, T3|(vV2) 2 42 | 16,13, 28](v2) 1
18 | [64,69,47)(vV2) 3 43 | [64,60,41](v2) 3
19 (8,9, 8)(+2) 2 44 | [64,63,103](v2) 1
20 | [64, 56, 79)(v2) 1 15 (8,5 8(vV2) 2
21 | [64,23,97](v2) 1 46 (64, 88, 7](v2) 25
22 | [32,37, 14](v2) 5 47 | [64,87,89](v2) 1
23 | [64, 66, 137)(v2) 1 48 | [32,1,46)(v2) 1
24 | 64,71, 23)(vV2) T 49 | [64,90,1)(v2) 180
25 [32, 45, 2)(v/2) 45 50 [32, 45, 46](v/2)
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3.4 UVIF1,A#1%#+£0 e (OF S
F 7O 1, A1 &b AV2EE

n\ ay [4, B, C](vVM) [an] || n\an [4, B, C](vVM) [
0 [1, 0, 1](v2) 1 0 [5, 0, 1(v2) 7
1 [1, 1, 1](v2) 2 1 [5, 7, 1](v/2) 14
2 [1, 1, 1)(v2) 2 [5, 7, 1](v2)
0 [29, 0, 1](v/2) 41 0 [169, 0, 1)(+/2) 239
1 [29, 41, 1](v/2) 82 1 [169, 239, 1](v/2) 478
2 [29, 41, 1](v/2) 2 [169, 239, 1](v/2)
0 [985, 0, 1](v/2) 1393 0 [5741, 0, 1](v/2) 8119
1 [985, 1393, 1](v/2) 2786 1 [5741, 8119, 1](v/2) 16238
2 [985, 1393, 1](v/2) 2 [5741, 8119, 1](v/2)
0 [33461, 0, 1](v/2) 47321 0 [33461, 0, 1](v/2) 275807
1 [33461, 47321, 1](v/2) 94642 1 [195025, 275807, 1](v/2) 551614
2 [33461, 47321, 1](v/2) 2 [195025, 275807, 1](v/2)
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AV2

8 Wl DA
C\NA|1 5 29 169 985 5741 33461

1 j1 1 1 1 1 1 1

2 3 3 3 3 3 3

3 § 8 8 8 8 8

4 6 6 6 6 6 6

5] 1 11 9 ) 9 11
6 2 12 12 12 12 12
7 2 18 14 2 18 14
8 16 16 16 16 16
9 6 36 12 36 36
10 9 11 3 11 9

11 4 44 12 44 44
12 16 12 12 16 16
13 33 ) 33 31 29
14 22 22 6 22 22
15 48 44 16 44 48
16 32 32 32 32 32
17 28 24 28 32 32
18 48 48 16 48 48
19 8 84 &4 84 84
20 26 26 10 26 26
21 36 40 8 48 40
22 48 48 12 48 48
23 102 98 98 2 98
24 16 12 12 16 16
25 21 67 7 67 69
26 39 3 39 33 31
27 144 144 12 144 144
28 26 30 6 22 18
29 1 23 21 23 25
30 52 52 16 52 52
31 22 142 46 138 134
32 80 80 8 80 80
33 4 44 12 44 44
34 40 32 32 32 32
35 26 26 6 26 22
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#9 & JEIH

C\NA|1 5 29 169 985 5741 33461
36 48 52 20 48 48
37 89 107 93 91 8
38 16 96 96 96 96
39 136 16 136 136 136
40 60 60 20 60 60
41 2 46 42 38 38
42 142 16 60 60
43 220 220 16 220
44 142 16 56 60
45 56 16 56 60
46 110 102 6 106
47 238 238 234 234
48 32 32 40 40
49 22 46 190 186
50 89 5 &9 87
51 32 32 28 32
64 176 176 176 176
128 392 392 392 392
256 832 832 832
512 1856 1856 1856
1024 4016 4016 4016
2048 616 8616
4096 18312 18312
8192 39184
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